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10. Exom O 2018

16 4 pd-y
10. Rewrite / / / dz dy dz as an equivalent iterated integral in the order dydz dz. —
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0o Jo vz
16 pd—z pd—z
//] / / dy dx dz
o Jo 0
4 pa—zZ pd—2
/ / / / dy dx dz
0o Jo 0
4 pd—z pJz
ﬂ / / dy da dz
0o Jo 0

T Ret  widlle
wp WVI"L M“‘Mtv' X vl ILI"VV' 0 to = ‘77'

sovinces (0 vidahs) hovery, e almda ke
W o vawiobl 9 x= (4-%)°

W ouwal bt Now 4 %5 [
Covill {on undable\ h 4—‘8. 3 & P Joagk
Ta_ A Gohutan (s 0%, whids ok H leg*

wM\""\h [_mo Wﬁ\;l&%\ (s 0 0 F 1S pmex Y.

7




11.  Which of the following represents the area of the region that lies inside r = v/3sin 6
and outside r = cos 07

™ \/.';sin()
a. / rdr df
Jrf6 .

cos 6

™ ﬁsin()
b. / / rdr df
Jr/3 Jcosl
T V3sinf w/2 cos f
3% / / rdrdf + / / rdr df
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T V3sin 6 w/2 cos 6
d. / / rdrdf — / rdr df
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1 / / rdr df — / / rdr df
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